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Jl 36,077
Al 233,270
- 402,761
=& 22 17,379 16,262 1,117
Al 400
- 16,979
H=s2 2e 6,423 5,698 725
Al 400
- 6,023
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01 X2 bl 848 368 480
Osx=H2A82EFY 368
— 2R+
3,000 * 1= x 1000 A *x123] *80%< & 2> 288
— SE4I0HAl
1,000 * 100 A x 100 *80%< & 2> 80
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SEHeEYHEMESEHA 400 400 0
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206 M = dl 400 400 0
Al 400
01 X2 Hl 400 400 0
ORSsEoH=MEEZAIMS | 400,000& 400
Al 400
H=Es 22 AlE A2 5,175 4,930 245
201 et 5,175 4,930 245
02 2324 5,175 4,930 245
OZ2Z22=22 Al 1,975
— O AHAIIQB(0HA, RE)
80,000 *2J A x12& 1,920
—AAHEBEEZ 5,500 = 1000 A&~ 55
OAl& Z&HI KX Y| 3,200
— A>EHAIEEH A2
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ozl 2,744
— 2EBAARFAS DT ALY
7,000 +501 x98 Y «80%< & 2> 2,744
202 Odl 4,800 4,800 0
01 = LHA YI 4,800 4,800 0
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20,0003 521 +60 L «B0%<E 2> 4,800
206 M= Hl 2,240 2,240 0
01 =8l 2,240 2,240 0
OH=HIEANLEBZESS Y
800,000 *80%<& &> 640
OgHZEHESTY 2,000,000& *80%<& &> 1,600
2 215,727 134,528 81,199
Al 92,720
T 123,007
s Bhatl 215,727 134,528 81,199
Al 92,720
- 123,007
dZs 23T RA2e 126,651 41,238 85,413
Al 69,620
- 57,031
201 £B-2dH| 56,651 41,238 15,413
Al 9,620
- 47,031
01 At 22/l 30,170 29,598 572
Oget=gHl 26,360
— stz ss Y 19,240,000& 19,240
Al 9,620
- 9,620
- zEsZaaM
700,000& *11JH 2 +80%<&E 2> 6,160
-SSR LFHE
120,000& 1000 22 *80%<E 2> 960
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02 =24l 26,481 11,640 14,841
O=323<HA 26,481
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Al 60,000
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50,000,000& 50,000
Al 50,000
O3&3 AL 20,000,000& 20,000
Al 10,000
- 10,000
Sot&al oIzt 77,000 80,346 N 3,346
Al 23,100
- 53,900
307 212t0| & 77,000 80,346 N 3,346
Al 23,100
- 53,900
05 A2t E 2 77,000 80,346 N 3,346
OSETFEAFH A2 2U2AAEAS
77,000,000& 77,000
Al 23,100
- 53,900
L=20t A= 12,076 12,944 \ 868
201 Bt AHH 9,196 10,064 /\ 868
01 AR 2te 3,023 2,691 332
Ogsts 1,376
— Jfel el Al = AoHH2 M A
80,0003 * 144 XF*80%<& 24> 896
— fOlGl=XHelAIEHACHHS2AEEE
100,000 6K *80%< & 2> 480
o=t 1,647
—esRhL Hels23 4
7,000 x39! x08 ! x80%< & 24> 1,647
0123329 6,173 7,373 A 1,200
oz3e 6.173
—Jolat=HelAlEEHACtHH 2SS
300& *13,500H 4,050
—Jelst=HelAlEE AN e HESAX
1,930& 1,100 2,123
202 04 d| 2,880 2,880 0
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OFEhmdatx=zel
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oy 22 94,662 125,081 230,419
2 39,400
Al 31,700
- 23,562
oleg& e 22 94,662 125,081 230,419
2 39,400
Al 31,700
- 23,562
CHOIE & ARE O 2 16,862 20,281 A3,419
201 Let249] 10,762 14,181 A 3,419
01 At 22/l 7,452 10,871 A3,419
Oget==EH| 2,120
- PHAWBHASLEEE
150,000 & *5Z *x80%<& &> 600
—AFHHEEZFY 720
ZHES, ZHS0HM
25,0003 *36 Ml E*80%<&E 2> 720
—S#Z=FHIEEMETE 800
NSXHHEINAL A SH I
200,000& x4Z& 800
O= &l 5,332
— Wil RFIEZ =S4
7,000 x821 98U x80%<H 2> 4,391
— SHEIIH BB S OIS DAY
7,000 #2021 x84 U x80%<E 2> 941
02 =224l 3,310 3,310 0
O3323ZLAA 2,830
—SZHEERE= 1,930& 6024 x12& 1,390
SHEGHU=2REE 300& 4004 123 1,440
OA&EHl Xl 480
— S2HNHESINHASEHIISEHI 7R 2
200,000 #33] *80%<&E 2> 480
202 oddl 4,800 4,800 0
01 2401l 4,800 4,800 0
Ol , A8 83, HIISHES AN EHS
(FXAIZHTH)
20,0003 521 +60 L xB0%<E 2> 4,800
301 LBt A 800 800 0
1MIIEEES 800 800 0
OZdgd D2 AZ 800,000& 800
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- 1,000
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- 1,000
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Ot issd oL =AU AEAS
50,000& »22!+303] 3,000
= 2,000
- 1,000
HATEZ2 AMEE 240tA M LE 22,800 22,000 800
= 11,400
Al 5,700
- 5,700
201 2Bt | 8,750 11,000 £2,250
= 4,375
Al 2,188
- 2,187
01 At 22/l 8,750 11,000 A2,250
Oget=gH| 8,750
—EMMBANERSURNUBETYS
8,750,000& 8,750
= 4,375
Al 2,188
T 2,187
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Al 3,512
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
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Al 26,000
301 gt d= 52,000 79,000 A 27,000
= 26,000
Al 26,000
1M1IIEESS 52,000 79,000 A 27,000
OSHAZAENAMEEEAZ 52,000,000& 52,000
= 26,000
Al 26,000
HES TANEE =4 450,308 214,880 235,428
= 158,700
J| 36,077
Al 108,450
T 147,081
S$2EM XA 450,308 214,880 235,428
= 158,700
J| 36,077
Al 108,450
T 147,081
S#ZNERE=s 2t 36,130 41,230 A5,100
201 Let24] 36,130 41,230 A5,100
01 At 2t 2l 10,544 10,544 0
O e8| 10,544
—ESZNEREDANMMNHLES
703 x87,0002 23| *80%<H 2> 9,744
—BANHRLBUBICERL4E
100 x5,00024 *80%< & 2> 400
— D=0 MEEHAZS Y 2l
500, 0002 *80%<E 2> 400
02 2324l 25,586 30,686 25,100
OZ232SLAA 25,586
—iteH 300 *42,00021 x23] 25,200
—sJ*H 1,930& 10024 »23| 386
g & 50,381 18,244 32,137
Al 23,100
- 27,281
201 £B-2%| 5,301 8,964 A 3,663
01 At 22l 5,301 8,964 A 3,663
o2g+¢ 910
— BRSNS HA LY
70,000& 1321 x13] 910
Oz &l 4,391
—HIRIARFASIZ AL
7,000 821 x98 L «80%< & 2> 4,391
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S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
202 o4 | 7,680 7,680 0
01 2L I 7,680 7,680 0
Ot AT EN=EH Y
20,0003 821 x50 L *80%< & 2> 7,680
203 SR F & 2,400 1,600 800
03 AIZH =& 25 X H| 2,400 1,600 800
SEELENETEES]
3,000,000 *80%<& 2> 2,400
307 212t0| & 2,000 0 2,000
02 DI AAIE E X 2,000 0 2,000
ONHESESAY 2,000,000& 2,000
405 XHAHFI S HI 33,000 0 33,000
Al 23,100
- 9,900
01 XAt 2B F S| 33,000 0 33,000
OE28210138)| 72 Y 33,000,000& =104 33,000
Al 23,100
- 9,900
OrMS=Iofoer At 4,320 4,320 0
201 et 9| 2,320 2,320 0
01 AP 22| H| 2,320 2,320 0
Ogbt=2H| 2,320
—OfMEsEANEFY 2,320,000& 2,320
301 et A= 2,000 2,000 0
11 J|EtE A2 2,000 2,000 0
OfMEsSE2HstsHESLNNIZ2
2,000,000& 2,000
OS2 LHIoHWEAAE AXAIS 233,400 40,800 192,600
= 116,700
Al 58,350
- 58,350
401 AlEHIZL 2 0HY| 200,000 0 200,000
= 100,000
Al 50,000
- 50,000
01 Al&EH| 200,000 0 200,000
OO0t S S IIoH0 A& A X ALY
200,000,000& 200,000
= 100,000
Al 50,000
- 50,000
402 SI2F X201 & 33,400 40,800 ANT,400
= 16,700
Al 8,350
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- 8,350
02 U EALEZ(0IETHR) 33,400 40,800 AT,400
OOt s= Lo A& XI& ALY 33,400,000 33,400
= 16,700
Al 8,350
- 8,350
AT 2HS0 42,077 43,086 A 1,009
J| 36,077
Al 6,000
301 et A= 42,077 43,086 A 1,009
J| 36,077
Al 6,000
MIEE43 42,077 43,086 A 1,009
OAHTIoH M= 42,077,000 42,077
J| 36,077
Al 6,000
SdioIEMZ X& 84,000 67,200 16,800
= 42,000
Al 21,000
- 21,000
402 2I2H X201 M 84,000 67,200 16,800
= 42,000
Al 21,000
- 21,000
02 QI EAILSEZ (01X S) 84,000 67,200 16,800
Os=dOIEXMEXJ ALY 84,000,000& 84,000
= 42,000
Al 21,000
- 21,000
HY2AZ G (F ) 92,132 85,626 6,506
ol 2 gl 68,894 66,631 2,263
ol 2AH| 68,894 66,631 2,263
101 @124 dl 68,894 66,631 2,263
01 2= 68,894 66,631 2,263
oAt 222
9,649& x20Q! *35A1 2t * 12& »85%< & 2> 68,894
Jl= &l 23,238 18,995 4,243
Jl=dl 23,238 18,995 4,243
201 £B-2%H| 12,679 12,276 403
01 At 22l 12,679 12,276 403
Oger==EH| 8,416
- 2A2E =24l 10,520,000 & »80%<ZE &> 8,416
O= &l 2,823
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7,000 #2121 +24 2 «80%<E 2> 2,823
Oogxz 1,440
— =AML IZ 120,000& = 1CH» 128 1,440
202 o4 Hl 3,359 3,359 0
01 = LH 4 Hi 3,359 3,359 0
OgZ2AclgRFA NI
87,4003 #4001 x3 »23| xB0%<E 2> 1,679
ORN2IERFANI
20,0003 #2121 «52 +80%<E 2> 1,680
203 ¥ S =&l 4,200 3,360 840
04 FENSEHR=LH| 4,200 3,360 840
ORN2IYS =2 350,000& »12& 4,200
405 RHoHE S HI 3,000 0 3,000
01 et EZFH S 3,000 0 3,000
OdeI 7 3,000,000% *1CH 3,000
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